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(NI1T172 40) C++ N1DIN - ‘N {7'7N

(NITH71 20 — NYNY 707) 4-1 NI7NWA |'an DY NY 7V My

1 NNV

TP DY MYON PTINY cube DY DN MIAN DY NINAN MIINN "IN

#include <stdio.h>
#include <«<stdlib.h>
#include <string.h>
#include <conio.h>
void p_cube (struct cube passed) ;
struct cube
{
int x,V¥.,2z;
} cb;
void main ()
{
struct cube cb={12,14,16};
p_cube (cb) ;
}

void p_cube(struct cube passed)

{

printf ("x=%d,y=%d, z=%d" ,passed.x,passed.y,passed. z) ;

SR DY NN IN NDXTH NAYNN ,I0NT9 cube MIAND DX NDAPHY MIPNINND X (M 8)

MYOSN PAN AN AN YOSN OV AD9TM NPYTA NYSINY OSPNoNd A (P 12)
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N ND9Tm NAwNHN NUM NN DoND 2T DOV 19010 NYIAPHY ONPNS 1N)
DYIT1219) DITTPDI NI DAPNNY 190070 DN NN 237N I9DNIY MIDDN 19010
{54145, 101, 3 D*190HDN :NNNTD .PIVHD 13 NOMPY 1DDH NIN

FPIPNO DY DOVOS NPNT

0091 NN DAP) 1524 19000 MY
The number 1524 is not palindrome

4 digits

20990 NN D2P) 13531 900N MY
The number 13531 is palindrome

5 digits

MNYND NNINHNND 271 NNY,STR OV MINWND ANIND NOIPHNY NNNONI HNPNS 21NI
(VDD NI YWY NHIND) DIV NI NNINKN OX NPT MIPNoN POL bwa
PINN NNHINKA DN IHNIY DY MIN NHINNI PYNIN INNY DMWY 1900 NN NIIN)
APY MDD NINN DTN NN ON NNN

NN

099 9291 abed :NNINHNN NIAY

The string abcd is not a palindrome

{PY) 0 NN PIND TPIPNONY TIWMN

1029 22P) abcba NMINHNN N3Y
The string abcba is a palindrome
The character a appears 2 times

ADNNR) 1 XD PINH IIPNOIY TIvm

2 N'INY

N (7P 10)

a (P 10)
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Jengh OW1A M220MPI TPIPNS NN

JMYD 719D PYY 1NN NN NN WMDY T0NI9D NNINKBN IR DAPD NPPon
MY D22 MYLI DR N, MMYO NDA MNY 90N NI 0w N (/73 8)
PPN NI WIND NN AvWOA AN PN . (P 8)

printf("% d",s); MNIN TP NVHX MWD 12 ANWA PR DN 3 (' d)

M0OTNN NN 7PN N

int lengh(char *str)
{
if (! (*str))
return 0;

return lengh(str +1);

void main()
{
int s;
char str{]l="good_luck \0");
s=lengh(s) ;

printf ("%c",s);
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1 6

[ 6 O\ 7 | s 2L 9 3T 10i[135{ 30 |

int se_number (int arrayl[],int arr_size,int num)
{
int funmber =0, mnumber=num, lnumber =arr_size-1;
while (funmber<=1number)
{
mnumber = (funmber + lnumber)/2;
if (array [mnumber]} ==num)
return (mnumber) ;
else if (array[mnumber]<num)

funmber= funmber +1;

else
lnumber -1;
return -1;

mum =10 MIAY NN MNN N .NX ('P) 5)

ITPIDNN NYNIN NN DY FTHNIPION NOW NYsan mONN .3 (Y73 10)

Tum=50ONDYTVY N 3  (/PyS)
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ANITITI 20 — NINW '7D7) 10-5 NIYNWA 'aD WITY 7V N1y

5 NNV
SINAD MIODHH NI
library ieee;
use ieee.std logic_1164.all;
entity T_FF is
port ( En,T : in bit;
g : out bit);
end;
architecture behave of T_FF is
signal tqg : bit;
begin
process ( En )
Begin
if En'event and En='0' then
if t='0' then tg<=tqg;
elsif t='1' then tg<=not tqg;
end if;
end if;
end process;
g<=tqg;
end behave;
library ieee;
use ieee.std logic_1l1l64.all;
entity t_5 is

generic ( size : integer:=3);
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port (clock : in bit;
g: out bit_vector(size-1 downto 0));
end;
architecture gnrt of t_5 is
component t_ff is
port ( En,T : in bit;
aq : out bit);
end component t_ff;
signal gs : bit_vector(size-1 downto 0);
signal wvcc : bit;
begin
vees="1";
u0 : t ff port map (clock,vcec,gs(0));
loop_a : for i in 1 to size-1 generate
ui : t_ff port map ( gs(i-1),vcc,gs(i));
end generate loop_a;
a<=dgs;

end gnrt;

D02 DINMN TMDNN ST-DY NINNN NIMNN DX INDND DOYIN PNTNI VYW N (/7 5)
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e | o L L L L L L L LT

~L g2 0
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NN 7MONN DN
library ieee;
use leee.std logic 1164.all;
entity t_6 is
port ( clk : in std logic;
high : in integer range 0 to 7;
Fout : out std_logic);
end;
architecture behave of t 6 is
signal T : integer range 0 to 7;
begin
process ( clk )
Begin
if rising edge(clk) then

if T<7 then

te=t+1;
else

t<=0;
end if;

if t<high then
Fout«='1";
else
Fout«='0";
end if;
end if;
end process;

end behave;
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2302 ONNNA Fyy NN A8HD IN OO, DN INRNOT DX NYNIN 171IannY pnyn X (/1 10)

b= clk

= high

ay T

£ Fout

10

11

12

XINnn

AINID PN I A (P 10)
library ieee;
use ieee.std logic 1164.all;
entity mux4_ 1 is
generic ( m : integer :=4 );
port ( d : in bit_vector (m-1 downto 0);
s : in integer range 0 to m-1 ;
y : out bit);
end;
architecture behave of mux4 1 is
begin
y <= d{(s) ;

end behave;

A8NY ORNNA y NSIND 280 NN NI DIV, DO DHHNCT AN N1HAN NIANHY PNYD

DNann
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library ieee;
use ieee.std logic 1164.all;
entity t_7 is
generic ( len : integer :=15);
port ( c¢lk ,trig : in std_logic;
Yout : buffer std_logic);
end;
architecture behave of t_7 is
signal cnt : integer range 0 to len;
signal clr : std logic;
begin
d ff : process ( clr ,trig )
Begin
if clr='1' then Yout<='0"';
elsif rising edge(trig) then
Yout<='1";
end if;
end process d_ff;

counter : process (clr,clk)

begin
if clr='1' then c<nt<=0;
elsif rising_edge(clk) then
if Yout='1l' then
cnte=cnt+1;
end if;

end if;

end process counter;
clr<='1l' when cnt=len else '0';

end behave;
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:19N5Y TarC NMONN NN

Library ieee;
Use ieee.std logic 1164.all;
Zentity tarC is
generic{ bits integer = 4 ) ;
8 port (clk,si in std logic ;
q : buffer std logic vector(bits-1 downto 0));
end
_8Architecture behave of tarC is
“@Begin
~@Process (clk)
begin
= if rising edge(clk) then
’ g <= si & g{bits-1 downto 1};
end if;

End process:
End behave;

N2WAN Y970y DIXRXINN MTINYI 0NN NX DOWM ,NININ NYIVN NN THIINND PHYN
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s 0
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s 0
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